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QA SH| 224G 1,080

onseY 270,000x1Hx43| = 1,080
OB HTY 5,450

osgti# 4,221,0002x1Hx4.1/100x12¢& = 2,077

oegt? 3,820,5008x1%x4.1/100x12% = 1,880

o7=t% 3,034,2008x1%x4.1/100x12¢ = 1,493
o¥sg 50,0009x6Yx12¢ = 3,600
O AT A 130,0009x7%x12¥ = 10,920
OYHEFHH| 248,375,0009x1/12x120% = 24,838
O A 327,341,0008x1/12x86%x1/30x15Y = 11,730
O 74| 327,341,0008x1.8% = 5,893
06 2RLHAH| 30,660 27,540 3,120
01 AUFLYLLHZH| 1,200 1,200 0
SRk =gulnta L 1,200

053 100,000 1x 128 = 1,200
02 AZE=RH| 16,020 12,900 3,120
ORZEZY| 16,020

osz 250,0009!x1%x12¢ = 3,000

o6z 165,0002x2Yx12¢ = 3,960

o7z 155,0009x3Hx 129 = 5,580

083z~93 145,0002x2Yx12¢ = 3,480
03 SEZLR+"ZEH| 13,440 13,440 0
OSHUR A SH| 13,440

O037|YENEFH 80,000x7Hx12¢¥ = 6,720

OOf| At Z AL Ao eE 80,000x2Hx12% = 1,920

O2zYET 80,0009x5@x12% = 4,800
00 | 388,960 445,494 456,534
01 YEHREH| 297,637 314,914 417,277
01 Ap2zaH| 134,032 171,509| 237,477
oYYt~gH| 52,372

O37|Ye|A LA 2 15,000,0009/x13] = 15,000

O2IAl 2701 Ol M|EH]| 100,0004x38|x274A = 600

OB7I3E 75 U Az HEY ¢ 1,000,0009 x 14 = 1,000

OAIREHIE 50,0009x25Fx4%| = 5,000

OAUMAZRE 30,772
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[EARA ]

ZH(700)AIAHIE  BH(710)YYHIE  MEh(751)dekaaldl  S:(201) YR

3H|

-E94 T2IE{0| EY 225,00094x5Cx43] = 4,500
-D2IE{7| ARE 50,000x5Cx43] = 1,000
-HmalE 7| Bl 330,000x2CHx44Hx43| = 10,560
-EA7|128 363,0008x20x128] = 8,712
-EAr22| 30,0009x25%x8%| = 6,000
OIAM &3 U Eetxa|A|A 550,0009x1CHx12% = 6,600
O E K| 5,000
OM4E 23 G2l 1] 500,0009x10% = 5,000
oYL 28,860
ouzl 60,000&x1Hx115Y = 6,900
043 60,0008x1Yx366% = 21,960
ozEH| 34,200
oYY PP OjAH| 11,400,000 = 11,400
OM4EEE AR 22] OjAlH| 11,400,000¥ = 11,400
OFLAEY YF2Z OfAH| 11,400,0009 = 11,400
©7|EF2 Y ZH| 7,000,000% = 7,000
02 332gH| 163,605{ 143,405 20,200
03323 L AN 160,605
oSMzta|| 40,00094x 1282714 = 960
oEAle2 93,440,000¢ = 93,440
OM4& §5H| 1,400,0008Ix13] = 1,400
OMBILEAIER 50,0008 12% = 600
O A} gheit| 559,0009x2¢ = 1,118
oRHRz 52,800
-MEHAEEAIER DAM W 35094x12,00000x12¢ = 50,400
-S| emea 2,0002x10000x12% = 2,400
ORMEZHN| 500,0008x 15| = 500
OA|U37|Y O AEZE|AIA| Zl@alyl  9,787,000¥x18 = 9,787
OTOIFH|A AL Q2|85 250,0009dx12¢ = 3,000
202 oft| 60,023 64,120 24,097
01 =LjoiH| 60,023 64,120 24,097
O=2LY0{H| 60,023
OF oIy P2210{H| 60,023
-H2|ET 27,383,000 = 27,383
= 10,320,000¢ = 10,320
-y 10,320,000% = 10,320
-2ke|of | 12,000,000¢ = 12,000
203 @R2H| 11,300 10,460 840
01 7|HREYFRIUH| 3,300 3,300 0

_34_



[SEARI2 ]

H(700)AMRHHIE  BH(710)YHIE  MEh(751)LBHElH]  S:(203) YR 2H]| (EH9l

rat
rio

07| H2I YRR 3,300,000 3,300
02 FoHtdFRL| 1,200 960 240
OF MG 40,00084x30% = 1,200
03 AMAFR2H] 2,000 2,000 0
OAl YR 22IH| 2,000,000 = 2,000
04 BEMRIUFRUH| 4,800 4,200 600
OFMEY F2H| 400,0008dx12¢ = 4,800
207 EF2NEy| 0|  36,000] 436,000
01 AFEH| 0 36,000 436,000
214 MR H| ‘ 20,000 20,000 0
05 MFRAH| 20,000 20,000 0
OA|4&H| FAlH| 20,000
OFA 4 & K2l Haly| 20,000,0009x 14| = 20,000
300 Zdoid 5,000 5,000
301 YdtEyE 5,000 5,000
10 YAHBIRYS 5,000 5,000 0
OASHEE ALY AlMS e 2t B M2 2,500,000x23| = 5,000
800 OfiH|H]| 40,000 40,000 0
801 ofiH]d| 40,000 40,000 0
801 ofjHjH] 40,000 40,000 0
|©01|HIHI 40,000,000 = 40,000 40,000 40,000 0
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SAEE 2020
MR G

A 4,196,358 A 5,370,000
o244y N E-La= =] 74,400 TEE 4,200,000
Efs|AM g2 234+Y 4,121,958 | REAMHS I1A %2 1,050,000
A 5,703,522 et 40,000
=212
sNAdoZ 5,703,522 27|HHIE 80,000
A 3,117,000
7} SQH|RHAZS
HESURM 3,117,000
A 1,412,880
ojjti{H|
oj|bfui 1,412,880
& A (A) 9,899,880 & A () 9,899,880
2t of (A-8) =0
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= 2 Of| £ A

[ +=AEA ]
(100) A=A

3:(170) AHEACBAY  MEL(171) ALEEIL0 S:(01) AILEE240

100 AHR2A4Q 9,899,880 9,682,880 217,000
170 22oigsd 4,196,358 | 4,925353| 728,995
171 NE2gasy 74,400 73,800 600
01 ANdEga+Y 74,400 73,800 600
OAlEEEZ 74,400
O13mm 160,0009x90% = 14,400
020mm 360,00094x202 = 7,200
0O25mm 640,00094x20 = 12,800
O40mm 1,400,0008x 104 = 14,000
O50mm 2,600,0009x104 = 26,000
173 EgARdEZI4Y 4,121,958 4,851,553| 729,595
01 =2n22I4$Y 1,870,000| 2,810,000 £940,000
oYLt AMeZ 1,870,000
O HAZ =5 A4 HEAL(RE 1,870,000,000% = 1,870,000
02 EEAALRZISY 2,251,958{ 2,041,553 210,405
oYL AIMZT 2,223,958,0009 = 2,223,958
OALQE SR AH|ALY (7]2) 28,000,000 = 28,000
180 {Ez12 5,703,522 | 4,757,527 945,995
181 &MAYCZ 5,703,522| 4,757,527 945,995
01 &=MAYAZ 5,703,522 | 4,757,527 945,995
oMAH YN Z 5,703,522,0009 = 5,703,522
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[SEARA ]

Z(200)AHEHAE g (230)RFAERS

Agh231)EA|

A &0f| Lt A

2:(401) Al 2H| L 2Ch|

9,899,880| 9,682,880 217,000
200 ZEH2|& 9,899,880| 9,682,880 217,000
230 RYAHE 5,370,000{ 5,153,000 217,000
231 E3 0 50,000| 450,000
401 AldH|YRCHY] 0 50,000( 450,000
[o1 Al 0 50,000| 450,000
234 &8 4,200,000 4,390,000 A190,000
401 AldH|YCH| 4,200,000 4,390,000{ A190,000
01 A4y 4,173,630| 4,369,325 195,695
OLtst A|WAAT AT HHBANEST~AU])  297,840,0008 = 297,840
oY+ g7 S (RENMYOIRE BL0HE)
496,400,0009 = 496,400
OAYH4SE M2 FUZRAL Y FH(HZE B
596,220,0008 = 596,220
OAYHLE B2 MY U WX (HES S) 596,220,000% = 596,220
OAHEE 279 HFMAAHRE 8) 496,400,0009 = 496,400
O7ZS Y4B 2479 T2 WA A 496,400,000% = 496,400
O7}2 2 AL Al IMALY 198,560,0009 = 198,560
O 2. 34 AlE ALY 695,590,0009 = 695,590
O 2| Z2% AlE HMALY 300,000,000% = 300,000
03 A|d&chy| 26,370 20,675 5,695
Outst AUa4E F4E AHSAHESTR~UE) ALROH|
300,000,00094%0.72% = 2,160
OAYALE ZH7H SZ(HENAIY (ZIR T YADHS) AlESoHH]
500,000,000 x 0.72% = 3,600
OAUNTE EH2 FHURA U FH|(HZS &) AT
600,000,000 x 0.63% = 3,780
O A4+E B2 MF U nH(HHE S) AlEFH| |
600,000,0009 x 0.63% = 3,780
0712S 4T HHAA (Y-S 8) A4y
500,000,0009 x 0.72% = 3,600
OHAS YT 2479 U2 WA ALY Al 20y
500,000,000% x 0.72% = 3,600
072 2| ¥ MY LAY 200,000,0009 x 0.72% = 1,440
071% 2.3+ Al WA 700,000,000¢! x 0.63% = 4,410
235 J|A#a) 1,050,000 590,000 460,000
401 AMdH|LRCHH| 1,050,000 590,000 460,000
01 Al4H| 1,050,000 587,120 462,880
O MATY YUAMAAY ArY 500,000,000%x14l = 500,000
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[#EAEA]

2H(200)2H2 42| &

o2 orEAz AE IH AfY

8h(230)%

YAt

AIS

S:(401) Al 2H| Lok

Mg (235)7|A1 83

100,000, OOO«lx 14= 100,000
07122 Hi4=2) A% M| M3 250,000,0008x17§4 = 250,000
OF - A4 MUY M 100,000,000&4x2744 = 200,000
03 AlMEchH| 0 2,880 2,880
236 apRH 40,000 0 40,000
405 AIAZSH|E 40,000 0 40,000
01 ZH4SH| 40,000 0 40,000
O HLUEETY 3L 1Y
71)28,000,0009 28,000,000¢ = 28,000
#)12,000,000% 12,000,000% = 12,000
237 27| PHIE 80,000 123,000{ 443,000
405 ZHAESHIS 80,000 123,000 243,000
01 A EH| 80,000 123,000 243,000
0 ZHIY RAMBIA (2T AU &) 80,000,0009x 14! = 80,000
260 H7SHH|RMZS 3,117,000 3,117,000 0
261 AMZOIRpAH 3,117,000 3,117,000 0
403 AFX|CHYSH20| 2 3,117,000 3,117,000 0
02 27|20l CHE cHEiAr Y| 3,117,000 3,117,000 0
OAHARE =& Y FHAY 3,117,000
7#)1,870,000,000% 1,870,000,0009 = 1,870,000
)1,247,000,000% 1,247,000,000% = 1,247,000
800 ofjH|H| 1,412,880| 1,412,880 0
801 OfiH|H| 1,412,880| 1,412,880 0
801 Ofjd|H| 1,412,880| 1,412,880 0
ojleH| 1,412,880,0009 = 1,412,880| 1,412,880 1,412,880 0
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AEE .
Ollat =

£ 2 X 2 (A) 15,870,207 15,563,844 306,363
Hl 4,187,495 3,885,433 302,062
JNE=1=ENT 3,997,415 3,720,353 277,062
goiaol
-4 2 A 190,000 165,000 25,000
JIErg i 40l 80 80 0
Al 1,782,832 1,995,531 A 212,699
o191 9|40 0| Kh2=0 80,000 80,000 0
EIS|HIE Y242 1,702,832 1,915,531 A 212,699
Al 4,196,358 4,925,353 A 728,995
Ar=oloiz4el ANEEazsol 74,400 73,800 600
ElslHH8Ex240 4,121,958 4,851,553 A 729,595
H 5,703,522 4,757,527 945,995
QER2
=HAIYHZ2 5,703,522 4,757,527 945,995
XN & X 2(B) 15,870,207 15,563,844 306,363
Hl 5,930,327 5,840,964 89,363
A4=H| 3,419,185 3,614,421 A 195,236
eI
= i3 Al8| 1,620,000 1,350,000 270,000
algtateld| 891,142 876,543 14,599
p.| 40,000 40,000 0
olHIH!
ollB I 40,000 40,000 0
A 5,370,000 5,153,000 217,000
&EXl 0 50,000 A 50,000
=E 4,200,000 4,390,000 A 190,000
QRS
JIHIER 1,050,000 590,000 460,000
X2 40,000 0 40,000
2)|2HIS 80,000 123,000 A 43,000
A 3,117,000 3,117,000 0
HIIS&HIKGASS
A ZOIRA 3,117,000 3,117,000 0
A 1,412,880 1,412,880 0
ofibH]
R 1,412,880 1,412,880 0
4 o (A-B) 0 0 0
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HBE(LAIXLZ) LAXLZ S22 0322 Fetlh

MOE(MAFE2NUR) TS0 HIIGHs IS BHl= 2519 oZ2 HIX
UDe 0 FHIE HSE & 0
(1) QY| ——mmmmmmmmmmm e m o 405,665 2
(2) P2 =FHI(EH HISORRES HESX) ————————- 0F 2l
HI0E(EIS HZ2RE 2X3) MBNVS SAct0l LesHZLE 0l S|

BX5ls %2 2B HZEH 13,290,135& &(=H|l 4,850,000, =HI
602,800& &, ZH| 7,837,335&)0I0, =EMLELIHZRHS] EX
SHE 5,470,247 A 0| Lt

H11Z(0l2A0=2 HABXE) 0lF0I9d=z FEE oFoIFAd0=2
Ct 201 dstlh

(1) O BEEBED ———————m——m——mm——mmm = 0 &
(2) OB T ————mmmmmmmmmmm oo 0 2
(3) MEYD ————————mmmmmmmmmmmmm o 0 2
(4) AENFY S —————————mmmmmmmmm s 0%

(5) B ———mmmmmmm oo oo 0HR
HMI2E(ZEQUAHE L HE) RIS 1S 2 YES S 20 s
e z = ZE > = | 3 o

Heels

H13Z(3EII3) sldII3e U2 0XMA2Z FEthh
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SAEE : 2020 EHE
O - g2 (el - 23)

2A|(A) 11,406,080 2=AAAY) 12,557,761 2UAA") 23,963,841
dojaol 933,434 e 933,434
Htel4ol 10,472,646 Alojaol 10,472,646

ULl [o; == Pe] 8,672,736 | 2024 8,672,736
A3 3,885,025 | Q212 3,885,025

2A&7(B) 11,406,080 A2H|(B") 12,557,761 Z&H(B") | 23,963,841
ool 10,309,080 eI 10,309,080
sl 777,000 Sdigd 777,000

R e 12,457,761 | R EIS 12,457,761
ojle]| 320,000 | oilH]H]| 100,000 | Oi[H]H]| 420,000
2} QI(A - B) 0| 2 QA -B) 0] 2 QA" -B") 0
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SAEE : 2020
o2« Y=

i

A 933,434 A 10,309,080

eig=ol Arga4el 889,634 | 4,556,000
I .

7|EfEL2l 43,800 2|2 5,232,872

Al 10,472,646 U2 520,208

A4 S pdEa 85,000 A 777,000
=

Efg|Aea24 10,387,646 Aol AR AAl 777,000

A 320,000

ofjely|

ol 320,000

g 4 A 11,406,080 & A ® 11,406,080
2 % (AB)=0
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600 Afis=< 11,406,080 10,813,561 592,519
610 B 933,434 836,328 97,106
611 ABESY 889,634 792,528 97,106
01 M8 499,958 414,960 84,998
o718& 190QIx5 427x40Ex 128 = 494,942
O7HEE M| 1902x 10044 EX6Y = 5,016
03 gug 339,900 333,300 6,600
OYLE 22094x2,500%x51Ex12¢ = 336,600
O A% 220X50%IX50Ex6E = 3,300
05 QHUSAUE 49,776 44,268 5,508
oAlE 1709x6124x400Ex128 = 49,776
661 7|EIHa 43,800 43,800
02 7[EEZeY 43,800 43,800
OR=2|F Ae| o= 1,50084x10,000E = 15,000
OUZEZ| izt ¢ 40,0009x60Ex128 = 28,800 ‘
670 Feelel 10,472,646 9,977,233 495,413
671 OfRjpel 85,000 85,000 0
01 OI30jR[2 85,000 85,000 0
O0lZ0|Ak= 85,000,0008 = 85,000
672 ESAHUS4 10,387,646 9,892,233 495,413
01 YESAHRAFZ 7.971,399| 7,416,256 555,143
|oYsEAzAZ 7,971,399 ‘
OslRMBTIAY iz g 1,686,000
2) 1,686,000,0009¢ = 1,686,000
ogutsiARZE 6,285,399,0009 = 6,285,399
02 ESgsARYZ 2,416,247 2,475,977 59,730
OFANHSAYLZCISD) 2,416,247
OBI4EA BTLAKY Aoz 479,000,0008 = 479,000
OA7|ZAIEGI 2 8) W23 400,000,000% = 400,000
O’ |zAY 298 UZRIEE 1,537,247,000% = 1,537,247
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[ &=AREA |

Z(700)AAHIE 2BIZ

g (710%

-

A & of o

Migk(714)328  =:(200)=28|

& A 11,406,080| 10,813,561 592,519
700 AlZEIE 11,406,080 10,813,561 592,519
710 FYHIE 10,309,080 | 9,393,561 915,519
714 EH| 4,556,000 4,624,000 A68,000
200 E2H| 4,549,000| 4,617,000 AB8,000
201 UBKRHH| 3,259,000 3,747,000| 2488,000
02 =323 3,259,000 .3,747,000| ..A488,000
0BT BTLAIY Y= 2,509,000 |
=) 1,686,000,000% = 1,686,000
70 479,000,000¢ = 479,000
=) 344,000,0009 = 344,000 '
O8I BTLAIY 23| 750,000,000 = 750,000
207 GigHeH| 250,000 250,000
01 S789H| 250,000 250,000
OHAE R Tl 250,000,000 = 250,000 v
214 MR EAL| 1,040,000 870,000 170,000
02 Astegt wad| 590,000 390,000 200,000
o=Estrat & WA 590,000
-OCCTV 9 et A} 5,0009Ix8,000m = 40,000
for==migy/ - 250,0008x1,400m = 350,000
OA71A| B2 =24 200,000,000¢ = 200,000
05 M| 450,000 480,000 A30,000
OBBBA S|4 300,000 |
(o= 100,0008{x2,000mt = 200,000
OURVS LSmE HERH(FE) U HeRAL ,
500,0008x2007H4 = 100,000
EsiHEALH FAES 10,00094x15,000m = 150,000
300 FHold 7,000 7,000 0
317 37 |YELIARRE S 7,000 7,000 0
OFEEAIRE 24 £42 700,000,00094x1% = 7,000 7,000 7,000 0
716 AHe2i3H| 5232,872| 4,296,872 936,000
200 S| 3,232,872 2,211,872 1,021,000
207 GHEH| 936,000 165,000 771,000
01 ¢8| 936,000 165,000 771,000
OEB3I4HRIAY QUIQIE HIPETtH 8 65,000,000¢ = 65,000
O33sIeAHelAld BUHE 89 11,000,000¢ = 11,000
023skeafAld 71T 89 150,000,0009 = 150,000
ORI |ZANRY H7HIHES 10,000,000¢ = 10,000
oskeEgs| 7I2AE 84 700,000,0008 = 700,000 _
214 $£HRA DA 1,246,872 996,872 250,000
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[ AR ] ,
ZH(700AIHHIZ  Sh(710)FLHIE

Mg (716)2213H|

2:(214)4482

|||

1,246,872

250,000

05 $MRAH| 996,872
OdteERA| 0k Y RIEXEH| 300,000,000¢ = 300,000
OB Strzx2|TY SieEAlYd e 250,000,0008 = 250,000
OskpAElAld L Exx2Ad AERA 200,000,000¢ = 200,000
OBTHEIAE(AHE, 71R) B5SAt 400,000,000¢ = 400,000
OTMS ZHZZAM| Y CHlieR(H3 712, 217)
8,000,00094x374 = 24,000
oS AAEAYE ti7|2EEE SRS o2 21,920
oEFMVIZE £FEN 1,185,0009ix188] = 21,330
oYt |23 SHEA 295,0008x28 = 590
OFAE7|ZAIY 2 SAlY| 4,100,0009ix12¢ = 49,200
OHeRA2 A oIS 527| 23| 146,0008x12¢ = 1,752
215 S| 1,050,000 1,050,000
O |IZAN(GI B 5) 27|12 _ 1,050,000 1,050,000 1,050,000
) 400,000,00094 = 400,000
=) '650,000,0008 = 650,000
300 ZAR 2,000,000 2,085,000 85,000
307 QiZtopd 2,000,000 2,085,000 £85,000
05 QIZIRES 2,000,000/ 2,085,000 85,000
O&HE7|ZAIY 2Y URIRIED 2,000,000
7) 1,537,247,0009 = 1,537,247
b 462,753,0009 = 462,753
751 YgralH) 520,208 472,689 47,519
100 QI24H] 405,665 358,606 47,059
101 QIziH] 383,825 337,606 46,219
01 B4 383,825 337,606 46,219
=) 253,181
o653 4,221,00094x2%x12¢ = 101,304
oz 3,820,5009ix1Yx12¢ = 45,846
osz 3,034,2008x2Fx12¢ = 72,821
oé—;~ 2,767,50094x18x12¢ = 33,210
(O 253,181,0009x1/12 = 21,099
(O = T = 4,080
020H0}4 100,0004x2%x12% = 2,400
01504 2002t 80,000x1%x12¢ = 960
01004 15140|8F 60,00094x1Ex128% = 720
OdTTERIPIE 720
O 25014 30,0002x28x12¢ = 720
OZWUAZLG 36,705
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[ SEARL ]

DH(7O0)ARMHIE  BR(710)YYBIE  Mgh(7s)UgkuEE|  F:(101)27H (] 29

o6z 11,634x50A|7x28x 129 = 13,961
org 10,5099IX50A[7x1Ex 128 = 6,306
osz 9,43494x50Ax2Ex128 = 11,321
o= 8,528x50A|7Ix1Ex12¢ = 5,117
o7& 6,000
OH2A} 40,000&x4%x12¢8 = 1,920
ORW=E 20,00094x6%x12¢ = 1,440
O=MAI4 60,0002 Ex12¢ = 1,440
OIS 100,00094x13x12¢ = 1,200
o71edesY 50,0009x6Ex12¢ = 3,600
OUR3F+Y 5,450
os5athe 4,221,0008x1%x4.1/100x128 = 2,077
o=t 3,820,50094x1%Hx4.1/100x12¢ = 1,880
o72u% 3,034,20024x12Hx4,1/100x12¢ = 1,493
o 50,0004x6Wx12% = . 3,600
(O EECIEEESE, ' 1,080
oSS 270,0009dx1Yx43| = 1,080
OHAZA| 130,000x6Ex12¢ = 9,360
OBHRIH 253,181,00094x1/12x120% = 25,319
o7t A 253,181,00084x1/12x86%x1/30x15% = 9,073
OHIIH| 253,181,00094x1.8% = 4,558
106 2|24EH| 21,840 21,000 840
02 ZZERH| 11,280 10,440 840
O3ZEZH| 11,280
Ob= 165,000&x2x128 = 3,960
ora 155,0002x3%x12¢ = 5,580
08~9z ' 145,0004x1%x128 = 1,740
03 EXUFAUFH| , 10,560 10,560 0
OEYYT~HESH| 10,560
O37|Ee 80,000x6%x12% = 5,760
OFYHHIFET 80,0009ix1Ex12¢ = 960
O UAYREY 80,0009ix4Ex12¢ = 3,840|
200 22| 114,543 114,083 460
201 YRR 101,535 65,535 36,000
01 AlFaEH| 88,635 54,235 34,400
ORI 9,000
OsI4HAHAE] BILAIY HafW7 il £
100,00084x1091x43] = 4,000
Osie{2IAY Qlefdel JuiETIQINE AT
100,000&x10QIx13| = 1,000
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[ S=ARA ]
2h(700)AHIE

(710 3HIZ

Mg (751) 2gkate|y|

OFkrAMZIAIY SHMHEAXE] 24T 100,00094x10QIx43] = 4,000
ok-gH| 22,000
OV | US| ZAZAL 242 15,000,0009Ix13| = 15,000
O=ixz| s £48 40,000,00094%x10/100 = 4,000
OURIYE 02442 20,00094x408] = 800
Osled? |7 DAUSEZAL 222 2,200,0009ix13] = 2,200
o= 10,900
OdteE PFSU oAl 8,400,000¢! = 8,400
O7|EI2AAY| 1,735,000¢ = 1,735
OBI-ER7 YLt THUZE AL 242 '
O Tzt 1] 500,0009Ix5%Y = 2,500
Ok B2 ARt 5,000,00092% = 10,000
oYx=z 35,000
Odkrz 28R4 38 2% 500,00024x70% = 35,000
02 52| 12,900 11,300 1,600
03323 L AM 3,100
Odkr= 3| 3,100,0008x13] = 3,100
OALZ7|Y OASIAH BZAIAY RAl2e| 9,800,00094x13] = 9,800
202 ofy| 10,248 10,248
01 =thoH| 10,248 10,248
OBleE YRS ofy] 10,248,0009 = 10,248
207 G| 0 36,000 £36,000
01 o7E9H| 0 36,000 £36,000
212 Se|Fdd| 2,760 2,300 460
09 7|Ef=z|TdY| 2,760 2,300 460
O I=H| 2,760
O Siek4d Aele 150,0009x6@x23| = 1,800
O T84 QHMst 80,0009Ix6%x23| = 960
|780 Sgid 777,000f 1,100,000{  A323,000
782 7lEoded 777,000 1,100,000 A323,000
751 s 777,000f 1,100,000| A323,000
01 ZDERIBF 777,000{ 1,100,000{ A323,000
O=NEZZ ALSRIH O ojz} HiEZ 777,000,000¢ = 777,000
800. OfH]H] 320,000 320,000 0
801 Ofitl| 320,000 320,000 0
801 ojHld] 320,000 320,000 0
J©01|H|Hl 320,000,000%! = 320,000 320,000 320,000 0
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SAEE : 2020
OolMTE : G2

2 8,672,736 A 12,457,761
ZH2Q0i2 49 ERANAE R4 8,372,736 | REAZS TEE 9,846,401
ZAEESY 300,000 2| HE| 2,611,360
A 3,885,025 A 100,000

FLAZ ojjuid]
ML 3,885,025 ol 100,000

4 A A 12,557,761 2 A ® 12,557,761
2t 9% (AB)=0
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[ S=AREE ]
Jl.[--( 100 ) 1|.E7:|/\OI

-5-1--( 170 ) 1|.go!o;|:1Aol

29 o 4

—

=2

Ngh( 173 ) EigiAlndE =g

A

=:( 02 ) ERIAREERSY

__97_

100 ZpE2 12,557,761 11,327,478 1,230,283
170 ZHEUoiE4e 8,672,736 8,327,478 345,258
173 ERAHMEREZE4E 8,372,736 8,027,478 345,258
02 ERAHE=zITY 8,372,736{ 8,027,478 345,258

OYLHEIAMAZT 6,820,800

OHZ slpxi2|7t SHEAY 6,386,000

=) 3,000,000,0009 = 3,000,000

21 2,786,000,0009 = 2,786,000

5) 600,000,0009 = 600,000

O alpaia|?t SHEAY 49,800

=) 32,000,000¢ = 32,000

) 15,000,0009 = 15,000

) 2,800,0008 = 2,800

OSY 24 Aqtsiex|2|2d2AR 385,000

=) 132,000,000¢ = 132,000

7)) 253,000,0009 = 253,000

oYL AMYZ 1,551,936,0009 = 1,551,936

175 3AREE+Y 300,000 300,000
09 VERBAREETY 300,000 300,000

oS IRt 23 30,000,0008x104 = 300,000
180 |E2Z 3,885,025| 3,000,000 885,025
181 &MAIY0IZ 3,885,025| 3,000,000 885,025
01  =MARKNZ 3,885,025| 3,000,000 885,025

O&MA0E 3,885,025,0009 = 3,885,025













[ AL ]
2 (Q00)AEHAE

-

A& of &

2:(401) A ZCHy|

& A 12,557,761( 11,327,478 1,230,283
200 AEHZ|E 12,557,761 11,327,478| 1,230,283
230 RS 12,457,761 11,327.478| 1,130,283
231 £ 0 300,000 A300,000
401 AMgH|Los| 0 300,000f  A300,000
01 AlgH| 0 300,000  A300,000
234 FEB 9,846,401 9,341,430 504,971
401 AgH|LRChH] 9,846,401 9,341,430 504,971
01 A4y 9.127,7231 9,315,043| 4187,320]
074z siexeld SEA 6,313,947
=) 2,672,706,0008 = 2,672,706
7)) 2,458,706,0004 = 2,458,706
) 600,000,000 = 600,000
) 582,535,000% = 582,535
ol sie2lE SEAY 47,112
=) 28,550,000¢ = 28,550
) 13,530,000¢ = 13,530
) 2,800,0009 = 2,800
=) 2,232,000% = 2,232
O2Y 24 A7 REXRREAAY 366,664
2) 105,260,0009 = 105,260
7D 241,540,0009 = 241,540
=) 19,864,000¢ = 19,864
0712 Bt SRR dRARY 1,000,000,00094 = 1,000,000
05t L= SRz H2AY 900,000,000 = 900,000
OBYLATE It HIZR BEeBA 500,000,0009 = 500,000
02 ZzH 697,708 0 697,708
O Strx{elE SHAY 654,588
22) 327,294,0009 = 327,294
7)) 327,294,0009 = 327,294
oA sl SEAY 4,920
=) 3,450,000% = 3,450
7)) 1,470,0008 = 1,470
O2Y 24t AnDepAE|EHE2AY 38,200
=) 26,740,000¢ = 26,740
70 11,460,000 = 11,460
03 AldEChH| 20,970 26,387 25,417
072 st SEAY 6,986,000,000x0.25% = 17,465
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[ AL ]
2o

AEARE Q30 FERMES  MEE

230722 =401

)AJAIH| QUS|

O siraely LAY

52,600,0009x1.08%

(©e] : gl

OB Ut AFDEIRIALRAY 407,800,00084x0.72% 2,937
235 J|AHAX| 2,611,360 1,686,048 925,312
401 ApdH|LECyy| 2,611,360 1,686,048 925,312
01  AjAdy| 2,602,000| 1,680,000 922,000
O HBKH2|R ABIE BV|1AR| B4ZAt 400,000,0009 400,000
© HasIeAE|d JARIHIO] WA SAL & 3¢ 165,000,000 165,000
O 1R Y ATE XA UV ASAH| THZAL  465,000,0009 465,000
O ¥ HYSEEAe| nA3A § 44 200,000,000¢ 200,000
O 7tERx URYES Wiz 34 & 10d 480,000,000%4 480,000
O W& HHAA HR7IBE 24 S 102 230,000,000 230,000
O E71ZAIE 7|El DASAt Y BeSA 662,000,000 662,000
03 AlgSche] 9,360 6,048 3,312
© HYKA2IZ Mt BI[32]| BaEAt § 7
2,600,000,00084x0.36% 9,360
800 OfjH|H| 100,000 0 100,000
801 OjH|H| 100,000 0 100,000
801 ofdld] 100,000 0 100,000
l@o“H|H| 100,000,00094 100,000 100,000 0 100,000
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AEE

O

2020 @&

gz

£ 422 (A) 23,963,841 22,141,039 1,822,802
A 933,434 836,328 97,106
Feiol AE249 889,634 792,528 97,106
7| el 43,800 43,800 0
A 10,472,646 9,977,233 495,413
Aol OJR |42l 85,000 85,000 0
Efs|AzEsd 10,387,646 9,892,233 495,413
A 8,672,736 8,327,478 345,258
ArEojz42 ElgAz ez 8,372,736 8,027,478 345,258
SAEEZY 300,000 300,000 0
A 3,885,025 3,000,000 885,025
fE2E
EMAYoZ 3,885,025 3,000,000 885,025
2 £ 22 (B) 23,963,841 22,141,039 1,822,802
A 10,309,080 9,393,561 915,519
2AHH| 4,556,000 4,624,000 A 68,000
FU|E
22JRH| 5,232,872 4,296,872 936,000
ks H| 520,208 472,689 47,519
A 777,000 1,100,000 A 323,000
S
Mool Eiy 777,000 1,100,000 A 323,000
A 320,000 320,000 0
ofiH|y| »
ofluid| 320,000 320,000 0
A 12,457,761 11,327,478 1,130,283 |
= 0 300,000 A 300,000
QMRS
&2 9,846,401 9,341,430 504,971
7| AR 2,611,360 1,686,048 925,312
| A 100,000 0 100,000
ojlH|g|
oflsib| 100,000 0 100,000
2 o (A-B) 0 0 0
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